
Quadratische Gleichungen Aufgabe 48 
 
                                              
7x² + 7x - 140 = 0                                            
           
           7x² + 7x - 140 = 0 | :7 
 
                 x² + x - 20 = 0 | +20     
 
                 x² + x = 20 
      
                      1                  1            
      x² + x + (---)² = 20 + (---)²  
                      2                  2 
 
       x² + x + 0,25 = 20,25 
 
            (x + 0,5)² = 20,25 |√       
 
                x + 0,5 = ± 4,5 | -0,5    
 
               x1 = - 4,5 - 0,5 = - 5  
      
               x2 = 4,5 - 0,5 = 4  
 


